Geometry Quiz Review 2.1 - 2.4.notebook September 19, 2016

Review 2-1/2-4

1. The first three members of a sequence are shown. How many dots are in the fourth member of the sequence?
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Write the next two numbers in the pattern. Describe the pattern.
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. Write the next two numbers in the pattern. Describe the pattern.
1.3.6,10, ls_ R L | Describe:
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4. Show the conjecture is false by finding a counterexample.

If the product of two numbers 1s positive, then the two numbers must be positive.
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Show the conjecture is false by finding a counterexample.
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If x <6, thenx < 4.
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6. Write the following statement as a conditional: All football players have a helmet.

"'4‘ \/JU ar e a ‘Qb‘“oau ::lav'r 'p'\?v\ wou have a
helmedt.

7. Write the following statement as a conditional: The measure of a right angle is 90°.

A€ ca angle is 4 riak-l- ansgle —then Hs meascre is F0°

8. Write the following statements as a biconditional: If an angle is acute, then its measure is 0° < m < 90°. If an
angles measure is 0° < m < 907, then it is an acute angle.
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If a polygon 1s a hexagon, then it has six sides. @1‘ F)

converse: '3 14 EJ \AS G ﬂ&%ﬂﬂlﬂk_ﬁd@bj
Py .:+4
inverse: ¥ & pa|¥¢5¢zg 'S Nota hexagon, tLheaZ+2 (CQDQF)@(;
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contrapositve: MGOY\ aosnt hove L sides ,‘\_’V\tf\_ @or F) =
It is ot a nekoqon
8. ( TorF)

Ifx+3=7 thenx =
converse: (TorF)
imverse: (TorF)

contrapositve: (TorF)
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11. Make a valid conclusion i the situation.

P ‘t \°

Ifx =5, thenx+7 = 11. The value of x 1= 8.

X+2 >

12. Make a valid conclusion i the situation.
> P

If the same goes mto overtime, then Joe will get home late. The same went into overtime.

Joe 3{4-; home |ate.

13. Make a valid conclugion in the situation.

I S 9 T
It the game goes nto overtime, then Joe will get home late. Joe got home Jate.
No Qonc lug:ion

14. Make a valid conclusion in the situation

If you run cross countn then vou ottexe fcise, then you will be healthy.

IL ML&#&E@J;—“\%N_U_\—R

15. Make a valid conclusion in the situation. N‘- \’\'lg

P L R
If v=0,then2y=0 If 2y =0, then 2y—5=-5.
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